
– 37 –

MAC9903023C3

CS-C181KR

Exploded Vie w

CS-C181KR / CS-C241KR

5

4

$

2

"

4

6

;

+

9

?

@

]

^

_

{

[

>

\

!

(

- .

& )

:

#

3

|

21
V

2

2

}

1

1

0

=

8

~

,

/

6

1

3

%

5

9

7

7

Untitled-8 6/14/00, 6:17 PM37



– 38  –

MAC9903023C3

CS-C181KR

<Model: CS-C181KR / CS-C241KR>

Replacement Parts List

DESCRIPTION & NAME

CHASSY COMPLETE

CHASSY BACK COVER

FAN MOTOR

CROSS FLOW FAN COMPLETE

SCREW – CROSS FLOW FAN

BEARING ASS’Y

EVAPORATOR

FLARE NUT (1/4")

FLARE NUT (1/2") OR (5/8")

DISCHARGE GRILLE COMPLETE

MOTOR – AIR SWING

TAP – DRAIN TRAY

VANE

CONTROL BOARD

TERMINAL BOARD COMPLETE

POWER SUPPLY CORD

SLIDE SWITCH

TRANSFORMER COMPLETE

ELECTRONIC CONTROLLER

RECEIVER COMPLETE

RECEIVER COMPLETE HOLDER

SENSOR COMPLETE

CONTROL BOARD TOP COVER

CONTROL BOARD FRONT COVER

REMOTE CONTROL COMPLETE

REMOTE CONTROL UPPER CASE

CONTROL PANEL

KNOB

KNOB

CONTACTOR

ELECTRONIC CONTROLLER

INDICATOR

REMOTE CONTROL LOWER CASE

COVER

FRONT GRILLE COMPLETE

INTAKE GRILLE COMPLETE

AIR FILTER (LEFT)

AIR FILTER (RIGHT)

SCREW – FRONT GRILLE

CAP – FRONT GRILLE

DRAIN HOSE

OPERATING INSTRUCTIONS

INSTALLATION INSTRUCTIONS

INSTALLATION PLATE

BAG COMPLETE – INSTALLATION SCREW

AIR PURIFYING FILTER COMPLETE

AIR PURIFYING FILTER

NO.

1

2

3

4

5

6

7

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

CS-C181KR

CWD50C265

CWD93956

CWA92270

CWH02C058

CWH4580304

CWH64K007

CWB30C222

CWH6002140

CWT25007 (1/2")

CWE20C574

CWA98267

CWH4612103

CWE24443

CWH10943A

CWA28C374

CWA20C755

CWA04088

CWA40C246

CWA741180

CWA741287

CWD93957

CWA50C582

CWH13433

CWH13C320

CWA75C560

CWE15C241

CWE311064

CWE17196A

CWE17286

CWA65036C

CWA74572

CWE39199

CWE15128A

CWB80040A

CWE11C982

CWE22C329

CWD00232

CWD00231

XTT4+16C

CWH52258

CWH85178

CWF561654

CWF61714

CWH36152

CWH82C194

CWD00C111

CWD00220

CS-C241KR

@

@

CWA92287

@

@

@

CWB30C210

@

CWT25004 (5/8")

@

@

@

@

@

@

CWA20C756

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

@

REMARKS

t

t

t

t
t
t
t

t

t

t

t

t
t

t

QTY

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

3

3

1

1

1

1

1

1

2

(Note) ● All parts are supplied from MACC, Malaysia (Vendor Code: 086).
● t marked parts are recommended to be kept in stock.

Untitled-8 6/14/00, 6:17 PM38



– 39 –

MAC9903023C3

CS-C181KR

Exploded Vie w

CU-C181KR / CU-C241KR

1

2

3

4

5

6

7

8

9

!

"

#

$

%

&

(

)

~

+

,

-

.

/

:
;

<

=

>

?

@

[

\ ]

^

_

{

|

}

V

0

1

2

3

Untitled-8 6/14/00, 6:17 PM39



– 40  –

MAC9903023C3

CS-C181KR

Replacement Parts List

<Model: CU-C181KR / CU-C241KR>

QTY

1
1
1

6
1
1

1
1
1

1
1
3

3
1
1

1
1
1

1
1
1

1
1
1

1
1
1

1
1
1

1
1
1

1
1
1

2
1
1

1
1
1

1

CU-C241KR

←
←
←
←
←
←

CWA92271
CWH31043

←
2JS464D3AA02

←
←
←

CWB32C286
CWH35114B

←
CWB01463
CWT02532

CWB01430
←
←
←

CWA31720
CWA31507

CWH30060
←
←
←
←
←
←
←
←
←
←
←
←

CWB16K027
←
←

CWT25004
CWB13K048

←

REMARKSREF.
NO.

1

2
3
4

5
6
7

8
9

10

11
12
13

14
15
16

17
18
19

20
21
22

23
24
25

26
27
28

29
30
31

32
33
34

35
36
37

38
39
40

41
42
43

DESCRIPTION & NAME

CHASSY ASS’Y
SOUND PROOF BOARD
FAN MOTOR BRACKET

SCREW - FAN MOTOR BRACKET
PARTICULAR PLATE F/M (L)
PARTICULAR PLATE F/M (R)

FAN MOTOR
HOLD FOR POWER SUPPLY CORD
NUT - P. FAN

COMPRESSOR
PACKING - COMP. MOUNT.
ANTI - VIBRATION BUSHING - COMP.

NUT - COMP. MOUNT
FIN & TUBE CONDENSER
HOLDER - COUPLING ASS’Y

GUIDER COMPLETE
3 - WAY VALVE (GAS)
TUBE ASS’Y COMPLETE (STRAINER, CAPILLARY TUBE)

3 - WAY VALVE (LIQUID)
TERMINAL COVER
NUT FOR TERMINAL COVER

CONTROL BOARD ASS’Y
SELF HEALING CAPACITOR - FAN MOTOR
SELF HEALING CAPACITOR - COMPRESSOR

HOLDER - CAPACITOR
THERMOSTAT
TERMINAL BOARD

HOLDER - SENSOR
CABINET FRONT PLATE COMPLETE
CABINET REAR PLATE COMPLETE

CABINET FRONT PLATE COMPLETE
SOUND PROOF MATERIAL
CABINET SIDE PLATE

SOUND PROOF MATERIAL
CABINET TOP PLATE
CONTROL BOARD COVER

HANDLE
OIL SEPARATER ASS’Y
PROPELLER FAN

FLARE NUT (1/4") (LIQUID)
FLARE NUT (1/2") OR (5/8") (GAS)
ACCUMULATOR ASS’Y

FUSE COMPLETE

CU-C181KR

CWD50K514B
CWH15223
CWD54145

CWH55101
CWD90835
CWD90836

CWA92272
CWH31114
CWH56060

2JS350D3AA02
CWB81047
CWH50055

CWH4582065
CWB32C287
CWH35113B

CWD90830
CWB01464
CWT02533

CWB01364
CWH17006
CWH7080300

CWH10K331
CWA31242
CWA31504

CWH30057
CWA15129
CWA28C381

CWH32002
CWE06K034B
CWE02096B

CWE06075B
CWG30539
CWE04111B

CWG30528
CWE03101B
CWH13331A

CWE16000E
CWB16K028
CWH00K050

CWH6002140
CWT25007

—

CWA16C200

(Note) ● All parts are supplied from MACC, Malaysia (Vendor Code: 086).
● t marked parts are recommended to be kept in stock.

Untitled-8 6/14/00, 6:17 PM40



– 41 –

MAC9903023C3

CS-C181KR

PART NO.

A54RA15–01V3

A54CS1VB20E

A54D7.5EL1TB

A54C352

A55C1741ASTR

A55DTC114EST

A55DTC143XST

A55C1740STPQ

A52D0001W015

A52C040

A52MPA2003C

A52BR9020

A52C094

A43036

A56W2DEH1–5

A59014

A01059

A04042

A00106

A00160

XBA2C31TR0

A16C204

A45ST8.0MTWT

A48039

A31698

DESCRIPTION & NAME

DIODE

DIODE

ZENAR DIODE

ZNR

TRANSISTOR

TRANSISTOR

TRANSISTOR

TRANSISTOR

INTEGRATED CIRCUIT

INTEGRATED CIRCUIT

INTEGRATED CIRCUIT

INTEGRATED CIRCUIT

INTEGRATED CIRCUIT

V-COIL

RELAY

SURGE ABSORBER

SWITCH

SWITCH

RELAY

RELAY

FUSE

TEMPERATURE FUSE

RESONATOR

BUZZER

SH CAPACITOR

SYMBOL

D2

DB1

ZD1

ZNR1, ZNR2

Q1

Q2

Q3

Q4, Q5

IC1

IC2

IC3

IC4

IC5

L1, L2

SSR

CR1, CR2, CR3

SW1, SW2

SW3

RY-C

RY-H, RY-M

FUSE

T. FUSE

X1

BZ1

C-FM

Electronic Parts List

<Model: CWA741180>

(Note) ● All parts are supplied from MACC, Malaysia (Vendor Code: 086).

Untitled-8 6/14/00, 6:17 PM41




